=i 12 Ak - M

D | D | 5 | SRETEH | $4LYVIEE FhALACIE VEIAERE | el | Seahifta | i
i i L 1. Tn (n)
men melxl. dv Dz KGm | KG
¥. J* A N.m r/min
LAl &0 20 1 12-M4%10 G611 16-25 = 10 5000 0. 001 0. 35
LAZ | 100 | 36 | & 1 2-MEX20 B-19 14-42 35 20 5000 0. 005 1. 33
LAZ | 135 | 48 | 12 12-MB%25 18-28 30-62 35-50 80 4000 0. 022 3.4
LA4 180 | &4 18 12=M10x:30 25-38 44-82 a0-63 160 a150 0.071 7.4
LAS | 210 | 80 | 18 | 16-M10%40 32-50 B0-112 65-90 315 2800 0. 154 13.4
LAG | 265 | 10O | 24 16-MI2%40 40-56 S4-112 490 630 2500 0. 16 22.6
LAT | 310 | 120 | 28 | [6-MI6%30 18-75 Bi-142 90-120 1250 2000 1. 86 3.8
LAS | 400 | 150 | 38 [ G-M20%60 60-95 107-172 120-145 2500 1600 3. 57 4.3
LAZ | 450 | 190 | 42 | 20-M20870 80-125 132-212 145-180 5000 1250 6. 47 111
LALO | 550 | 230 | 52 | 24-M24%80 100-125 167-262 | 180-220 10000 1000 17. 55 191
LALL | 700 | 280 | 7O | 32-M30%90 130-180 | 202-302 | 220-270 20000 8OO 5. 1 373




chEEE AR AT

L

-

~E

[ .
% -_|y
1 | —— L || I = gl i
D .
LB BAERG U R A A R B R L BRAY ma
RS T —3H VFHIHR AL LA HE P C L) i F 4K il b il
HE Rt L Tn {n)
[3 H 1 md x L d d° KG. m° G
Yool N.m r/min
LB1 60 20 26 12—M4x]2 6—11 16+25 10 5000 0. 0003 0.4
LB2 100 | 36 | 32.37 | 12—M6x18 10—19 2542 50 5000 0. 0035 1.5
LB3 120 | 44 39 12—M8=20 16—24 30+~52 100 4500 0.01 2.2
LB4 140 50 45 12—=M10=20 22—35 3882 160 4200 0. 021 3.1
LBS 160 | 60 51 12—=M10x22 25—38 4482 224 4000 0.031 5
LBG 185 70 a8 12—M12x25 30—45 60—112 315 3600 0.07 8.1
LBT 220 85 68 12—M12x28 35—50 60112 500 3200 0. 15 13
LBS 265 | 110 82 12—M12x32 40— 56 84112 800 2600 0.3 22
LB9 310 | 120 | 106 | 12—M16=40 45—71 84—112 1250 2200 0. 75 35
LB10 | 400 | 150 | 124 12—M20=50 60—385 107172 2250 1800 2.2 69
LB11 445 190 140 12—M20x56 80—120 132+-212 5000 1600 4.4 110
LB12 | 550 | 238 | 172 16—M24x71 100—150 | 167252 10000 1200 14 190
LB13 | 700 | 318 | 220 | 24—M24x71 130—200 202352 20000 1000 38 340




chEZEEFAEHRAT

% MW ‘

] (IS RRESARAESRERE [ B o S e = = T 9 A

%
ﬂ_

[

o =

UL AtA LR S kSR SR =

{8 BiT—H HREETFi N Sl b g % U VFH] 551 Heehitt i it

i L T n)

1] i H ml x L d dz KG. o iH

YI £ N.m r/min

UL1 B0 20 | 29 12 _M5x12 10~18 22--42 0] 5000 0, 0003 0.7
ULz 100 26 36 12 _Mex=14 12~22 27~52 25 5000 0. 0008 1.2
UL3 120 a2 40 12 _ M8B=15 18~25 0~62 63 4800 0. 0022 1.8
UL4 140 18 48 12 _MB=18 20~30 38~82 100 4500 0. 0044 3
UL5 160 | 45 56 12 _ M10=20 24~35 J8~82 160 4000 0. 0084 4.6
UL6 180 50 B3 12 _ M10=22 25~40 d4~112 250 3600 0. 0164 .1
ULT | 200 | 56 | 78 12 _M10=25 35~48 60~112 315 3200 0. 029 10.9
UL8 220 | 63 80 12 _M12x28 38~50 60~112 400 3000 0. 045 13
UL9 250 7l 100 16 _ M12x=30 42~60 B4~142 630 2800 0. 089 20
UL10 | 280 | 80 | 120 16 _ M12x35 45~T70 84~142 800 2400 0. 159 30.6
UL11 | 320 | 90 | 125 16 _ M16=40 §0~75 84--142 1000 2100 0.279 19
UL12 | 360 | 100 | 150 16 _ M16=45 55~85 84~172 1600 2000 0. 536 54
ULL3 | 400 | 110 | 170 16 _ M16x50 63~95 107~172 2500 1800 0. 896 Bl
UL14 | 480 | 130 | 210 16 _ M20x=56 75~110 107~212 4000 1600 2. 261 145
ULls | 560 | 150 | 255 | 24 _M20x60 85~125 132~212 6300 1200 4, 645 222
ULle | &30 | 1BO | 280 | 16_ M24x68 100~140 167~252 10000 1000 8. 092 302
UL1T | 750 | 210 | 350 24 _ M24xT6 120~160 167~302 16000 900 20. 107 561
UL18 | 900 | 250 | 420 24 _ M30x=86 140~180 202~302 25000 800 43. 053 818




	LA
	LB
	LU

